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4, and 7B.1 and 7B.2, look in Appendix A
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5-4-32-101 2345

12) A ————t——p
54321012345

13) ((7-3)x42-9]+33 =
[4x16-9]) +27 =
(64 - 9) + 27 =
55 +27=21/27

14) 1-4-21482-7x5+19=
|«-61+16-35 +19 =

64+16-35+19=6

15) 132 4+5:10=
169 + (5 + 10) =
169 4 (.5) = 169.5 or 169 1/2

16) 5(9-2)-6{7)+23:3=
5(7)-6(7) + (8+3) =
3542 + 24 =17

17) 2X-5=-X+13
2X+X=213+5
3axX=18 X=6

18) Y+14-3Y=0
Y-3Y=-14
2Y =-14 Y=7

19) 312B+23=514+5%68
12(-7/2 B + 2/3] = 12[21/4 + 5/6 B]
<12B+8 =63 + 10B

8-63=10B + 428
-55=528B B=-1352

20) 27T +1.09=53- 6T
100{2.7T + 1.09) = 100{5.3 - .6T]
270T + 109 = 530 - 60T
270T + 60T = 530 - 109
330T =421 T =330/421 or 191/330



